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1
Decision/action requested

This contribution proposes to endorse the proposal 1, and send a LS to RAN2 to inform the SA3 agreement.
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Rationale

Currently, Solution #12: Protecting the traffic at the PDCP layer in TR 33.836 [2] is selected for PC5 protection during the normative work, in which LC ID will be used for PDCP protection, i.e.,

-
The key used is PIK;

-
Direction is set to 1 for direct link signalling transmitted by the UE that sent the Direct Security Mode Command for this security context and 0 otherwise;

-
Bearer[0] to Bearer[4] are set to LCID; 

-
The least significant bits of COUNT[0] to COUNT[31] are filled with Counter and the remaining bits should be filled with some part of KD-sess ID (or equivalent parameter). 
Obviously, 5 bits LCID is defined.

However, as concluded in the R2-1908601 [1], LC ID is 6 bits for NR SL, i.e.
Agreements on MAC PDU format: 

1: 
Length of LC id is 6bits for NR SL.
2:
Number of LC id for SL DRB (for a given destination id) is 16.

3:
MAC PDU for SL-SCH will follow interleaved structure like NR Uu.

4:
Reuse the existing NR UL MAC subheader format for SL-SCH, including R/F/LCID/L MAC subheader with 8-bit L field, R/F/LCID/L MAC subheader with 16-bit L field and R/LCID MAC subheader.
Which length of LCID shall be used for PDCP?

We suggest to use 5 bits LCID for PDCP, in order to align with the LTE V2X and PDCP usage. Because currently number of LC id for SL DRB is 16, as illustrated in the RAN agreement.

Following two proposals are suggest:

Proposal 1: The length of LCID used for PDCP is 5 bits. 

Proposal 2: Sending an LS to RAN2 to inform the length of LCID used for PDCP is 5 bits.

4
Detailed proposal

It is proposed to endorse the proposal 1, and send a LS to RAN2 to inform the SA3 agreement.

